
��
������������������
�	�����������

�������

�$4#0S��$V$&0SS$���

�����	�����
��	��	��������	��������
�������	��	�
�����
���
�$b0'0�nX�E0'EY�kbGpG$S���0bY�i0b{�S$�Xn0p$�'$bk$�)0�\b0i0Xk$'G�X�$Xk0�SYi�'YS0@$i�)0�Ykb$i�0i]0'G$SG.)0i�s�Wns� \$bkG'nS$bW0Xk0�� $Xk0� S$i� 'YW\$��i� an0� \b0ik$X� i0hG'GYi� )0� i$Sn)� 0X� S$� WY)$SG)$*�)0��0)G'GX$��b0\$@$-$��'YWY�k$W&G}X�0X�b0S$'G�X�'YX�S$i��XikGkn'GYX0i�)0S��ik$)Y�an0�'YXkb$k$X�0i\0'G$SGik$i�Y�i0bpG'GYi�)0bW$kYS�@G'Yi��
�0bY�XY�\Y)0WYi�)2$b�\Yb�>0b$�)0�0ik$i�'YXiG)0b$'GYX0i�$S� GXW0XiY�'YX@SYW0b$)Y�)0�SYi� \$'G0Xk0i�)0bwW$kYS�@G'Yi
�0SSYi��)0&0X�k0X0b�nX$�'S$b$�G)0$�)0�Xn0ikb$�0i\0'G$SG)$)�\$b$�$'0b'$bi0�$�b0an0bGb�SYi�i0bpG'GYi�)0bW$kYS�@J'Yi��'YXY'G0X)Y�0S�'$W\Y�)0�$''G�X�)0�S$�)0bW$kYSY@~$��iGX�k0WYb�$�0anGpY'$bi0�Y�'Ybb0b�bG0i@Yi�'n$X)Y�i0�iYW0k0�$S�'nG)$)Y�W})G'Y�)Gi\0Xi$)Y�\Yb�Xn0ikgi�0i\0'G$SGik$i��
z�Yb� an}�b0$SGt$b� 0jkYi�'$W&GYi�� z�$s�$'$iY�$S@Y�)P0b0Xk0�an0�Y&SG@n0�$�050'kn$b� 0ik$i�WY)Q'$'GYX0i��z��n}� k0X0WZi� \Yb�A$X$b� Y� \0b)0b� 'YX�nXYi� iGW\S0i� '$W&GYi�)0� XYW&b0� 0X�S$��Y'G0)$)��YSYW&G$X$� )0��0bW$kYSY@�$���X�0"�'nbiY�)0�0ik$i�S~X0$i��p0b0WYi�an0�0rGik0X�XY�iYS$W0Xk0�RnikL='$'GYX0i��iGXY�S$�Y&SG@$'G�X�)0�E$'0bSY�s�k$W&G}X�S$�'YXp0XG0X'G$�\$b$�Xn0ikbYi�$iY'G$)Yi��
�X�\bGW0b� Sn@$b��S$�b0@S$W0Xk$'G�X�pG@0Xl0�\$b$�S$i�
iY'G$'GYX0i�)0�'$b{'k0b�'G0Xk�'Y�)0�Xn0ikbY�\$~i��XY�\0bWGk0� 0S� XYW&b0� )0���Y'G0)$)��� \n0ikY�an0�i0�E$�b0ikbGX@G)Y�0S� k}bWGXY�0r'SniGp$W0Xk0�\$b$�$an0SS$i�$@bn\$'GYX0i�'YX�{XGWY�)0� Sn'bY�� �X�in�Sn@$b��\n0)0X�0W\T0$bi0�)Gp0biYi�$\0S$kGpYi�'�WY��
iY'G$'GYX0i���nX)$'GYX0i��
'$)0WG$i��0k'��
�Xkb0� 0ikYi�� XYi� E$� \$b0'G)Y� W{i� $\bY\G$)Y�0S� �SkGWY�� \n0ikY� an0� i0� b05G0b0� 0X� 5YbW$� 0i\0'OH'$� $� nX$�GXikGkn'G�X�)0�'$b{'k0b�$'$)}WG'Y�s�nXGp0biGk$bGY��\0bY�an0�k$W&G}X�S0�GW\bGW0�0S�'$b{'k0b�\b[^GY�)0�Xn0ikb$i�$'kGpG)$/i��'n$S0i�iYX��S$�Yb@$XGt$'G�X�)0��YX@b0iYi�Y��nbiYi�\$b#�S$�0)n($'G�X�'YXkGXn$)$�+0�SYi�$iY'G$)Yi��S$&Yb0i�'YXiG)0b$)$i�'YWY�>X)$W0Xk$S0i�0Xkb0�SYi�\bGX'G\GYi�s�b$t�X�)0�i0b�)0�S$�$'kn$S��Y'G0)$)��YSYW&G$X$�)0��0bW$kYSY@�$���$ik$�0ik0�WYW0XkY�k0X)b~$WYi�S$�Xn0p$���	�
��
��������
����
���������������

�X�i0@nX)Y�SnB$b��Xn0ikb$�0i\0'G$SG)$)�E$�iG)Y�kb$)G'GYX$SW0Xk0�nX$�)Gi'G\SGX$�SG@$)$�$�S$i�'G0X'G$i�W})G'$i��0i�)0'Gb�XY�anIb�b@G'$i��E0'EY�an0�i0�E$'0�W{i�0pG)0Xk0�\Yb�5YbW$b�\$bk0��)0�nX$�)0� S$i�in&0i\0'G$SG)$)0i��)0� S$��0)G'GX$� �Xk0bX$
� 0ik$�'$b$'k0b~ikG'$� i0� E$� \0b)G)Y�0X� YkbYi�\$~i0i�� \$bkG'nS$bW0Xk0� )0S� E0WGi50bGY�XYbk0��)YX)0�S$�)0bW$mYSY@~$�i0�E$�i0\$b$)Y�)0�S$�W0)G'GX$�GXk0bX$�s�i0�E$�'YXikGknG)Y�'YWY�nX�)0\$bk$W0XkY�)K90b0Xk0�0X�ini�\$bk0i�$)WGXGikb$kGp$�s�'nbbG'nS$b�� z�Yb�an}�E$�Y'nbbG)Y�0ik0�'$W&GY���n0i�&{iG'$W0Xk0�\Yb�S$�'YW\S0RG)$)�an0�E$�0r\0bGW0Xk$)Y�S$�0i\0'G$SG)$)�)nb$Xk0�SYi��SkGWYi�)0'0XGYi���$-$�p0t�GX'Yb\Ye$WYi�W{i�0S0W0XkYi�\bY'0)GW0Xk$S0i��\$b$�$'b0'0Xk$b�0S�$bW$W0Xk$bGY�)G$@X�ikG'Y�s�k0b$\}nkG'Y�)0�S$�WnSkK9$'}kG'$�)Gi'G\SGX$��an0�'YXikGkns0�b0$SW0Xk0�S$�W0)G'GX$�'nk{X0$��
�Y�Y&ik$Xk0�S$�)Gp0biG)$)�)0�'$W\Yi�an0�i0�E$X�GX'SnG)Y�EYs�0X�)��$�S$�$''G�X�'YkG)G$X$�)0S�)0bW$k�SY@Y��nXY�)0�SYi�W{i�GW\Ybk$Xk0i��W0RYb�0ik$&S0'G)Y�s�)0�W$sYb�kb$i'0X)0X'G$�\$b$�0S�0R0b'G'GY�\bY50iGYX$S��0i�S$��Gbn@�$��0bW$kYS�@G'$���$RY�0ik$�)0XYWGX$'G�X�i0�$@bn\$X�kY)$i�$an0SS$i�$''GYX0i�)G$@X�ikG'$i�s�k0b$\}nxkG'$i� an0� 0S�)0bW$k�SY@Y�0R0'nk$���0�\b0@nXkY��z�n{S�0i� 0S� X�W0bY�,0�)0bW$k�SY@Yi�an0�XY�\b$'kG'$� $S�W0XYi�nX$�&GY\iG$�)0� \G0S�'YX�'$b{'k0b�)G$@X�ikG'Y�� Y�� z�n{XkYi�XY�b0$SGt$X�)0i)0�S$i�W{i� 0S0W0Xk$S0i�k}'XG'$i� )0� 'bGY'Gbn@~$�� \$d$� 0S� kb$k$WG0XkY� )0� X0Y\S$iG$i� &0XG@X$i�� Y�W$SGD$i� ���>0b0� 0S� '$iY�� E$ik$�\bY'0)GWG0XkYi�W{i�'YW\S0RYi��'YWY�S$i�0r'GiGYX0i�)0�knWYb0i�s�'G0bb0�)0�)050'kYi�'YX�GXR0bkYi�Y�'YS@$RYi��
��)0bW$kYSYC~$�E$�)0R$)Y�)0�i0b�nX$�'G0X'G$�W0b$W0Xk0�Y&i0bq$)Yb$�)0�SYi�b0inSk$)Yi�)0�S$�k0b$\G$�k�\G'$�Y iGik}WG'$
�$'kn$SW0Xk0�0i�nX$�)Gi'G\SGX$�\YSL9$'}kG'$�\bY'0)GW0Xk$S��an0�b0anG0b0�Wn'EY�0i?0btY�\$b$�nXW$sYb�0Xkb0X$WG0XkY�s�W0RYb�)0i0W\0�Y�0X�S$� 0i\0'G$SG)$)���Y�\Y)0WYi� G@XYb%b��XG�\$i$b�\Yb�$SkY�� an0Wn'EYi�)0�0ikYi�\bY'0)GWG0XkYi��Y�&G0X�8o0bYX�YbG@GX$SW0Xk0�)0i'bGkYi�\Yb�)0bW$k�SY@Yi�Y�>0bYX�WY)K:M'$)Yi\Yb�0SSYi��\$b$�W3Yb$b�S$i�k}'XG'$i�Y\0b%kYbG$i�

�Xkb0�$S�XYi�)0�0ikYi�;Bnb$X� SYi� iG@nG0Xk0i	��Gbn@��WG'bY@c|'$�`b�_S$XYi�\$b$�'{X'1b�)0�\G0S���0byWY$&b$iu�X���nGWGY0r6YSv$'G�X���bGY'Gbn@~$���i'S0bYk0b$\N���G0bb0�)0�-070'kYi�'nk{X0Yi�'YX�'YS@$RYi�0�GXxR0bkYi�� fi\S$Xk0�)0�W0S$XY'GkYi�\$b$�S$�b0\G@W0Xk$'G�X�)0�S$i�S0n'Y)0bWNi��!b$i\S$Xk0�)0�'$&0SSY�s�'Gbn@~$�)0�b0)n''G�X�)0�S$�'$SpG'G0���G\Yin''G�X�s�UG\YGXs0''G�X���X<Skb$'G�X�)0�'YS{@0XY���Gbn@�$�)0�S{i0b�s�Wn'FYi�YkbYi�\bY'0)GWG0XkYi�W0XYb0i�an0�i0b~$�S$b@Y�0XnW0b$b��

����



���	������������	���������
�	����������
�������
��

�R$OPGCd$:$G!4!4CdDGC%$O4CB�=d2d!�A�3�#CdG�#4!�=A$BP$d#RG�BQ$d=COdc=Q4ACOd����aCOdD$GCd#$O�%CGPRB�#�A$BP$�d
BCd 1$ACOd !G$�#Cd !CB!4$B!4�d B�!4CB�=d �=d G$OD$!PC�d ��� 1CG�d #$dD=�BP$�Gd O$G4�A$BP$d =�d $OD$!4�=4#�#d #$d =�d
#$GA�PC=C._��d!CACdRB�d!4$B!4�d#8*$G$BP$d�d�ER$==�dER$dRP4=4W���d$=dbT4#Cd#$dW4B!dUd=�dD�OQ�d#$d��OO�Gd!CACd
RB�Od#$dOROd 1$GG�A4$BP�OdA\Od4ADCGP�BP$O�d=�Od!R�=$O�dO4BdD$G#$GdORdS4.$B!4��dO$d�!CAD�a�Bd1CUd#$dP$G�D4�OdAC#$GB�OdUdDGC!$#4A4$BPCOdER$d$=d#$GA�Pb=C�CdA�B$;�d!CBdDG$!4O4bBdUd]T4PCdBCP��=$O�d�Cd#$�$ACOdER$#�GBCOdD�G�dBR$OPGCd�$B$D=[!4QC�d!CBd=COd]T5QCOd�BCB4ACO�d$Bd $=dDG$O$BP$d=�d#8-O4bBdUd =�d4A�.$Bd&CGA�BdD�GQ$d#$d=�dDG$O$BP�!4bBd#$d=�d#$GA�QC=C.^�d�BQ$d=�d!CARB4#�#�d
�$d1�d=C.G�#CdAR!1Cd!CBd=�OdDR�=4!�!6CB$Od4BP$K�!4CB�=$Od#$=d�CRGB�=dC&d�$GA�QC=C.4!d�RG.$Md�B#d�B!C=C/UdUd $=d�$�Gd�CC<d C&d�$GA�QC=C.4!d�RG.$N�dD�G�dBCdA$B!4CB�Gd=�dS�G4�#�d.�A�d#$d =4�GCOdOC G$d !4GR.`�d#$GXA�QC=b.4!�dDR�=4!�#COdDCGd!CBC!4#COd#$GA�Pb=C.COd 4BP$GB�!4CB�=$O�d �$GCd BR$OPG�d4A�.$Bd#$�$dO$GdC,$!4#�dP�BPCd�=d .G$A4CdA]#4!Cd!CACd�=dDc�=4!Cd$Bd.$B$G�=�d!CACd =CdER$d G$�=A$BP$d$O�d D�G�dER$dBCd$T4OP�Bd#R#�OdOC�G$d=�d 4#CB$4#�#d#$dBR$OPGCOd$OD$!4�=4OQ�OdUdOC�G$dORd!�D�!4#�#dD�H�d G$�=4W�Gd=COd DGC!$#4A4$BQCOdER$dOCBd#$dORd #CA4B4CdUdA�UCGd!CBC!4A4$BPC�d

�#$A[O�d $=d #$GA�Pb=C.Cd $OQ[d $Bd RB�d O4QR�!4bBd #$d DG4S4=$.4C	d �CBC!$d �d 'CB#Cd =�d D4$=�d #CA4B�d PC#COd OROd
�OD$!PCO�d4BP$GDG$Q�dPC#CdP4DCd#$d=$O4bBd!RP[B$��dORdG$ODR$OQ�d�=dPG�P�A4$BPC�d=�Od!CAD=4!�!4CB$OdER$dC!RGG$Bd
!CBdQ$G�D4�OdA]#4!�OdCdER4GcG.4!�OdD�GP4!R=�GA$BQ$d$Bd=CdG$&$G$BQ$d�d=COd!�A�4COd$OP]P4!COd4B#R!4#COdDCGd=�dA�B4DR=�!4bBdFR4GcG.4!��d#CA4B�dQC#COd=COd�OD$!PCOd#$d=�d!4!�PG4W�!4bBd#$d1$G4#�O�d!CBC!$dQC#�d =�dD�PC=C.^�d�$B4.B�d Ud A�>4.B�d Ud DCO$$dRBd #4�.BbOQ4!Cd#4($G$B!4�=d S�OPC�d ER$d =$d D$GA4Q$d PCA�Gd #$!4O4CB$Od OC�G$d?�Od4B#4!�!4CB$Od ER4GcI04!�OdER$d $S4P�BdOCA$Q$Gd�)dD�!4$BQ$d �dDGC!$#4A4$BQCOd4BB$!$O�G4COdCd $TQ$BOCOd!R�B#CdBCdO$dG$ER4$G$B�d

��=$Od !CBO4#$G�!4CB$Od 1�!$Bd 4AD$G�Q4SCd $=d G$%CGW�A4$BPCd#$d =COdDGC.G�A�Od#$d $BQG$B�A4$BQCd $Bd =�Od[G$�Od
ER4GcG.4!�OdUdDGC!$#4A$BQ�=$Od$Bd=�Od$O!R$=�Od#$GA�QC=b.4!�Od#$=dD�^O�dD�G�dER$dBR$OQGCOd$.G$O�#COdDCO$�Bd
=�dS$G#�#$G�d 4#CB$4#�#d#$d=�dAC#$L�d#$GA�PC=C.^��d

�Cd DC#$ACOd A$BCODG$!4�Gd CPGCd �OD$!PCd#$d 4ADCGQ�B!4�
d $GGbB$�A$BQ$d O$dD4$BO��dER$dDCGd QG�Q�GO$d #$d RB�d
$OD$!4�=4#�#d �A]#4"��dVdBCdER4GcG.4!��dBR$OQGCOd $OD$!4�=4OQ�Od$OP[Bd $Bd!CB#4!4CB$Od 4B'$G4CG$Od �=dG$OPCd#$=d.G$A4CdA]#4!CdD�G�dG$�@6W�Gd$OP$dQ4DCd#$d4BQ$GS$B!4CB$O
d$OPCdB�PRG�=A$BQ$d!CB==$S�d#9+7!R=Q�#$Od!CBdG$OD$!QCd
�d=COd1CBCG�G4COdA]#4!CO�d$OD$!4�=A$BP$d�1CG�dER$dDG$#CA4B�d=�dA$#4!4B�dDH$D�.�#��d�$d1�!$dDR$O�d4AD$G�Q4SCdER$dBR$OQG�dG$�=dDCO4!4bBd#$BPGCd#$=d!CB.=CA$G�#CdA]#4!CdO$�dS$G#�#$G�A$BQ$d$OQ��=$!4#��d

Z�$G[d DCO4�=$d $BQCB!$O�d ER$d1�U�d ==$.�#Cd =�d1CG�d #$d ��RP4W�Gd�dBR$OPG�d $OD$!4�=4#�#d !CACd =��d ��!�#$A4�d�C=CA�4�B�d#$d�$GA�PC=C.^�d�$#4!CER4GcJ4!��dCd��!�#$A4�d�C=CA�4�B�d#$d�$#4!4B�dUd�4GR.^�d�$GA�YQC=b.4!�O��d

����


